[ Efficiency vs vertpos |

. S S e e

T 8 S - R —

etticiency vs vert r

T S e e

R U 1 O DO

Ratio

0.95L : H
1072 10 1

10 0?
TP vertr (cr%)

—=— DQMstep3_ZToEE_CKF

Effici —e— DQMstep3_ZToEE_default
ICIeNd . pQMstep3_ZToEE_defaultNEWT

0.8

N n
o - : : : : :
> 0.7 R ERRRED | EERREEEEE PERRRERE
[} r . . . . .
Z u : : : : :
& 0.6 Beeeeees Jeeeeenes ERERRY | BT TECETTR Beeeeees
c L : : : : :
[} o : : : : :
(8] ... L [ B [
g OSp e
o E : : : : :
] SRR Y 1 SRS SR
T USRS |3 1§ SRR
0.2l LI
X SRS SRS L 1L .
[N AP AP EU TN LYWL R RS S
I E....... Feeeeens EJURA 1. 1111 A N SO beeenns
o l'lE : : i : :
R RRRRE St 11111118 & SRR Freees
09— -----------------------------
0.8%

30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
1.2

R o E T

efficiency vs Sim. PV z

R I I

e S S

g AL

10
1.1

Ratio

I

0.9

0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


